



次の計算をしましょう。

$$(1) \frac{11}{13} - \frac{9}{13}$$

$$= \frac{2}{13}$$

$$\frac{2}{13}$$

$$(2) 3\frac{3}{7} - 3\frac{1}{7}$$

$$= \frac{24}{7} - \frac{22}{7} = \frac{2}{7}$$

$$\frac{2}{7}$$

$$(3) 3\frac{2}{7} - 1\frac{2}{7} - \frac{4}{7}$$

$$= \frac{23}{7} - \frac{9}{7} - \frac{4}{7}$$

$$= \frac{10}{7}$$

$$(4) 7\frac{2}{17} - 4\frac{9}{17} - 1\frac{4}{17}$$

$$= 6\frac{19}{17} - 4\frac{9}{17} - 1\frac{4}{17}$$

$$= 1\frac{6}{17}$$

$$1\frac{3}{7} = \left(\frac{10}{7} \right)$$

$$1\frac{6}{17} = \left(\frac{23}{17} \right)$$

$$(5) 5\frac{11}{75} - 2\frac{37}{75} - 1\frac{41}{75}$$

$$= 4\frac{86}{75} - 2\frac{37}{75} - 1\frac{41}{75}$$

$$= 1\frac{8}{75}$$

$$(6) 6\frac{21}{37} - 1\frac{36}{37} - 2\frac{25}{37}$$

$$= 4\frac{95}{37} - 1\frac{36}{37} - 2\frac{25}{37}$$

$$= 1\frac{34}{37}$$

$$1\frac{8}{75} = \left(\frac{83}{75} \right)$$

$$1\frac{34}{37} = \left(\frac{71}{37} \right)$$

